
Решение задач:

• По готовым чертежам



Найти:  AOC;  AOD   -?
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Найти:  1;     2 ;     3-?
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Найти:   DBC  ;    ABF;   
     DBF  -?
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АОD=1200,СО     АО    

Найти:    ВОD-?
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NMO  :       LMN=2:7         

Найти:  LMR;  RMO   -?
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a║b
Найти:     1,      2,    3
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2-   1=800;a║b
Найти:     3,      4- ?    
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Найти:     BDE,    BDC,    EDK-     ?    
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Найти:     BCD -     ?    
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BE-биссектриса         АBC
Найти:         BED -     ?    
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AD║BE;AC и BC-биссектрисы  BAD   
и   ABE.

Найти:    АСB-? 
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АC-биссектриса    BAЕ;    
СDE:      AED=7:8
Найти:    DEF-? 
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B на 200больше    С  
Найти:   B,     С- ?
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А в 3 раза меньше     B  
Найти:   A,     B- ?
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